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HE: HYRIFH (2AL)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
-HESEH) 600
A2 500, 0003 =304 1,500
SHsSHAAIH) 900
CAESEE 450,0003 =404 1,800
gtAE olEXH(1TH) 100
SDIDNE=PN; 800, 0003 =24 1,600
OXt & di 23,967
—AdEs=010) 3,390
— AE3= 3,068,500& *3CH 9,206
—WEAA(IH) 3,707
—AESE 1,916,000& *4CH 7,664
Oz At & UiHl HaMABSES 12,224
—822AHA BAHAX A 1,000,000& *9JH 4~ 9,000
—gBAHAZ A 248,000& =13 2 3,224
O9% & Hl 2,610
— A e HAZHI(SR)
8703 x44 *5A| 2*150L 2,610
OAld &EHl |Xbl 21,600
— A SA22(2S, BE2) 10,000
— B &Y KFANES 300,000& x12& 3,600
— YUY M Y Ba 3,000
—NSHa 3BAE(2AL) HIIAHEY
2,500,000& *23| 5,000
202 04| 88,994 99, 112 A 10,118
01 2LHO HI 36,194 39,112 N2,918
Ol (2 LH) 21,704
O=2udogl(22) 14,490
02 MY 52,800 60,000 NT,200
OBAXN A - HZA FHNH (BNH)
200,000 x22H = 12& 52,800
203 R =&Y| 10,800 10,900 A 100
02 RIS R = XIH| 3,120 3,160 N40
OFAINAMARFEY| 40,000 *784H 3,120
04 EANSHLRF=AH| 7,680 7,740 A60
ORANSELERFAH|
(400,0002 12 )+(5,0002 »48H 12& ) 7,680
204 X R =S A H| 18,600 21,000 A 2,400
01 MM RHAY| 1,800 1,800 0
OXMZ LR ETH 1,800
03 SEYRZEHI 16,800 19,200 N2,400
ool sl 50,000& x28H x12& 16,800
405 Xt&HE S| 700 7,000 26,300
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—CHHEX B 2 200,000 *8H 2 1,600
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01 =S LHAYI 28,120 18,560 9,560
OZERAN WYL =7
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OzZEols2da 28 20,000 »2F 5«53 1,000
OS2 H2A 8t ool g2Ad2e 2
& 20,0003 « 1@ =12« 12& 2,880
OSSE2dAN dSESHA 2
20,000 «2H 162 «12& 7,680
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